Question Paper for

Sr. Clerk against 66.67% DPQ

Date: 20.11.2023
Time: 2 hours
Total Marks: 100

Instructions:

1. There will be no negative marking for
a wrong answer.

2. There are total 110 (100 + 10)
quetions in which 10 questions
(optional) will be from Rajbhasha.
First 100 attempted questions will be
evaluated.

3. All questions carry equal marks (1
mark each).

4. Question Paper is set bilngual (i.e. in
Hindi and English Languages), if
there is any confusion intranslation
or otherwise, English version will be
followed.

5. All candidates are hereby advised that
any information/instruction, if
required, may be given by the Nodal
Officer, the same should be followed
invariably.

6. There are total 23 number of pages
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What is the rate of Non
Practicing Allowance paid to
IRHS officers?

(A) 15%
(B) 25%
(C) 20%
(D) 10%

Will education allowance to
children be acceptable to
employees on extra ordinary
leave?

(A) Yes

(B) Yes, on permission of GM
(C) No

(D) None of the above

Which deduction from
subsistence allowance cannot be
made?

(A) House Rent

(B) PF Deduction

(C) Income Tax

(D) None of the above

Mechanism of settling contract
disputes is

(A) Negotiations

(B) Arbitrations

(C) Ombudsman

(D) CAT

What is the 100% rate of
Travelling Allowance of an
employee in Level 9?

(A) 600
(B) 800
(C) 900
(D) 1000
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Q. 10

Permanent Retirement Account

Number (PRAN) consists of
digits

(A) 8

(B) 10

© 11

(D) 12

What is the maximum
percentage of commutation of
pension?

(A) 30%
(B) 40%
(C) 35%
(D) 50%

What is the maximum amount of
leave encashment on
retirement?

(A) 270 days
(B) 300 days
(C) 315 days
(D) 250 days

What is the minimum qualifying
service for superannuation
pension?

(A) 10 years
(B) 15 years
(C) 20 years
(D) 25 years

In case of railwayman retires
voluntarily after 20 years of

qualifying service, the date of
retirement shall be treated as

(A) Working day

(B) Non working day
(C) Rest day

(D) None of the above
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.11

.12

. 13

. 14

. 15

Benchmark APAR for MACP
would be with effect
from 25.07.2016.

(A) Good

(B) Outstanding
(C) Average

(D) Very Good

APAR of non gazetted employees
should be written

(A) Monthly
(B) Yearly

(C) Half yearly
(D) Quarterly

Who is responsible for initiating
the APAR process by providing
the initial feedback on an
employee's performance?

(A) Reviewing Officer
(B) Appraising Officer
(C) Reporting Officer
(D) Appointed Authority

For assessing the suitability for
MACP, how many year's APAR is
considered?

(A) 3
(B) 4
©€) 5
(D) None of the above

A staff has to work for at least

under a supervisor so
that he will be the reporting
officer for filling APAR to the
concerned staff.

(A) 3
B) 8
€) 6
(D) None of the above
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Q. 16

Q. 17

Q. 18

Q. 19

Q. 20

Who is empowered to make
compassionate appointment in a
Division?

(A) Sr. DPO

(B) DRM

(C) GM

(D) PCPO

Which of the following posts
belongs to safety category?

(A) Clerk

(B) Staff Nurse

(C) Assistant Station Master
(D) Stenographer

Which of the following is the
minimum pension to be granted
to the railway employee with
effect from 01.01.2016?

(A) 7500
(B) 8000
(C) 9000
(D) 10000

Employee refusing promotion
shall be debarred from
promotion for the period of

(A) 2
(B) 4
) 1
(D) None of rhe above

Full form of HRMS is

(A) Heart Rate Monitoring
System

(B) Human Resource
Maximisation System

(C¢) Human Resource
Maintainance System

(D) Human Resource
Management System
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. 22

. 23

. 24

. 25

Maximum number of financial
upgradation granted under
MACP is

A) 1
(B) 2
€) 3
(D) 4

Rate of annual increment for
government servants with effect
from 01.01.2016 is

A) 3%
(B) 2.5%
(C) 1.7%
(D) 5%

The employee's contribution

towards New Pension Scheme is
of (Basic pay + DA)

(A) 10%

B) 12%

(C) 8.33%

(D) 14%

Pay fixation on promotion from
lower grade to a higher grade is
done in terms of FR

A) 24
B) 22
(C) 23
(D) None of the above

Minimum service required for
promotion to Group C from
Group D is

(A) 2
(B) 4
€ 3
(D) None of the above
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. 26

. 27

. 28

. 29

. 30

IRITM is located at
(A) New Delhi

(B) Lucknow

(C) Banaras

(D) Secunderabad

is a senior scale officer
of railway

(A) AOM
(B) DOM
(C) Sr. DOM
(D) DRM

Currency of panel of selection is
months.

A) 12
(B) 15
(C) 20
(D) 24

Reservation for SC/ST in railway
recruitment is &
respectively.

(A) 10% & 7.5%
(B) 10% & 10.5%
(C) 15% & 7.5%
(D) 18% & 7.5%

When two or more candidates
are declared of equal merit at
one and the same examination,
their relative seniority shall be
determined

(A) Date of appointment
(B) Date of Birth

(C) Date of Reporting
(D) None of the above
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Q. 31

Q. 32

Q. 33

Q. 34

Q. 35

What is the minimum number of
years of service is essential for
being eligible for post-retirement
complementary passes?

(A) 20
(B) 10
(C) 12
(D) 15

How many sets of railway passes
can be issued to the widow of a
railway servant who has died
after completion of 25 years of
service?

A) 1

S W N

(B)
©)
(D)

Divisional Railway Manager is
eligible for metal pass.

(A) Gold
(B) Silver
(C) Bronze
(D) Brass

In terms of Pass Rules, a family
includes

(A) Spouse (wWhether earning or
not)

(B) Dependent sons under the
age of 21 years

(C) Unmarried daughters
(D) All of the above

School pass granted for Group C
employee ward is full set
(per child) per year.

(A) 3
(B) 4
€ 2
(D) None of these
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Q. 36

Q. 37

Q. 38

Q. 39

Q. 40

What is the maximum amount of
study leave that can be granted
during the entire period of
service?

(A) 1 year
(B) 2 year
(C) 3 year
(D) S year

Joining time can be combined
with any kind of leave except

(A) LAP
(B) LHAP
(C) RH
(D) CL

If the paternity Leave is not
availed within the prescribed
period, then it will be

(A) Added to LAP

(B) Added to LHAP

(C) Granted subsequently
(D) Treated as lapsed

How many days of leave is
granted as maternity leave?

(A) 90
(B) 150
(C) 180
(D) 270

Hospital Leave is applicable to
employees belonging to

group.

(A) A&B

(B) Only A

(C) Only B

(D) C&D
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Q. 41

Q. 42

Q. 43

Q. 44

Q. 45

All non-gazetted staff excluding
apprentices with more than

years of continuous
service are eligible to elections to
staff councils.

(A) 2
(B) 3
€ 4

(D) 5

What is the maximum period of
grievance redressal in NIVARAN?
(A) 30 days

(B) 45 days

(C) 15 days

(D) 60 days

For expansion of existing house,
maximum amount of House
Building Advance given is

(A) Rs. 30 lakh
(B) Rs. 10 lakh
(C) Rs. 151akh
(D) Rs. 7.5 1lakh

How many total number of
women employees should be in
factory to provide creche
service?

(A) 10
(B) 20
(C) 30
(D) 40

Which of the following is not a
welfare provision as per
Factories Act 1948?

(A) Canteen

(B) Creche

(C) Drinking Water
(D) Alcohol bar
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Q. 46

Q. 47

Q. 48

Q. 49

Q. 50

The creation of imprest for petty
office expenditure

(A) Requires finance
concurrance

(B) Does not require finance
concurrance

(C) Requires Railway Board's
approval

(D) None of the above

The canons of financial propriety
are related to

(A) Contract

(B) Expenditure of public
money

(C) Tender
(D) Earning

Neeraj Chopra is associated with
which of the following sports?

(A) Javelin throw
(B) Cricket

(C) Badminton
(D) Wrestling

Which of the following is the
latest mobile telecomminucation
technology?

(A) GPRS
(B) 3G
(C) LTE
(D) 5G

Which of the following is the
largest rainforest in the world?

(A) Congo basin
(B) Amazon
(C) Sahara
(D) Sunderban
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Q. 51

Q. 52

Q. 54

Where appointing authority is
not available is treated
as appointing authority.

(A) Controlling Officer
(B) DRM

(C) GM

(D) PCPO

If the disciplinary authority of a
charged official is also involved
in the same case, this case
should be dealt with by the

(A) Appointing authority
(B) Appellant authority
(C) Next higher authority
(D) None of the above

Which Standard Form is
required to be used for issuing
the order of deemed suspension?

(A) SF1
(B) SF2
(C) SF3
(D) SF 4

When casual labourers can be
governed under Railway
Disciplinary Rules?

(A) After 4 months from
engagement date

(B) After 6 months of
engagement date

(C) After attaining temporary
status

(D) After regular absorption

Who is the Supreme Disciplinary
Authority?

(A) Vice President of India
(B) President of India

(C) General Manager

(D) Chairman Railway Board
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Q. 56

Q. 57

Q. 58

Q. 59

Q. 60

The Right to Information Act was
enacted in the year

(A) 2012
(B) 2005
(C) 2002
(D) 2019

The fee to be paid by information
seeker under RTI Act is

(A) Rs. 110
(B) Rs. 100
(C) Rs. 10
(D) Rs. 50

Within how many days after
receiving a reply on the First
Appeal, a second appeal can be
filed?

(A) 30 days
(B) 7 days

(C) 15 days
(D) 90 days

When a Public Information
Officer fails to provide
information to an information
seeker within the time frame
required by RTI Act, it is referred
to as

(A) Deemed rejection
(B) Timeout

(C) Holding information
(D) Contempt

Which of the following bodies
come under the purview of RTI
Act?

(A) Enforcement Directorate

(B) Research and Analysis Wing
(C) Narcotics Control Bureau
(D) None of the above
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Q. 61

Q. 62

Q. 64

Q. 65

Full form of IPAS is

(A) Integrated Payroll and
accounting System

(B) International Pay
Accounting Software

(C) Indigenious Payroll
Accounting System

(D) Indirect Payment Accrual
Source

Internal audit is done by

(A) Audit Officer

(B) Accounts Officer
(C) DRM

(D) None of the above

External audit is done by

(A) Audit Officer

(B) Accounts Officer
(C) DRM

(D) None of the above

Railway Expenditure is
(A) Voted

(B) Charged

(C) Both

(D) None of the above

Test audit notes are issued by

(A) Audit Officer

(B) Accounts Officer
(C) PFA

(D) None of the above
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Q. 66

Q. 67

Q. 68

Q. 69

Q. 70

The Model Schedule of Powers
(MSOP) issued by Railway Board
in 2017-18 was significant
because

(A) It brought about uniformity
in delegateion of powers
among zonal railways

(B) It delegated all financial
powers vested with railway
board to the General
Managers of zonal railways

(C) It focussed on IT integration
of zonal railways

(D) It was based upon GFR
delegation of Government of
India

What is the codal life of a
computer?

(A) 3 years
(B) 4 years
(C) Syears
(D) 2 years

form is used for
sending condemned material for
disposal

(A) DS 8

(B) Issue Ticket

(C) Requisition

(D) None of the Above

The full form of IREPS is

(A) Indian Railway E
Procurement System

(B) Indian Railway
Establishment Procedure
System

(C) Indian Railway
Establishment and
Procedure for Selection

(D) None of the above

The full form of GeM is
(A) Goverment e-Marketplace
(B) Government e-Marketing

(C) Government e-Marketing
System

(D) General purpose
e-Marketing
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Q.71

Q. 72

Q. 73

Q. 74

Q. 75

What is the maximum period for
which the permission can be
given for retention of Railway
Quarter in missing case?

(A) 4 months

(B) 36 months

(C) 24 months

(D) None of the above

After retirement on
superannuation, a Railway
employee may be permitted to
retain the railway quarter on
normal license fee upto

(A) 12 months

(B) 4 months

(C) 6 months

(D) None of the above

Which of the following is the
National Bird of India?

(A) Peacock
(B) Parrot
(C) Eagle
(D) Pigeon

What is the shape of India's new
Parliament Building?

(A) Circular
(B) Square
(C) Triangular
(D) H-shaped

Who is the Prime Minister of
United Kingdom?

(A) Joe Biden

(B) Vladimir Putin
(C) Rishi Sunak
(D) Boris Johnson
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Q. 76

Q. 77

Q. 78

Q. 79

Q. 80

What is the medical category for
recruitment to the post of ALP in
Electrical OP department?

(A) A2
(B) Al
(C) C1
(D) Bl

Railway Employee Liberalised
Health Scheme (RELHS) is
related to

(A) Retired employees only

(B) Retired employees and their
family members

(C) Serving employees only
(D) None of the above

Whose sign appears on India
Currency Notes?

(A) President of India

(B) Prime Minister of India

(C) Finanace Minister of India
(D) Governor of RBI

Which river originates from
Amarkantak?

(A) Shivnath
(B) Mahanadi
(C) Hasdeo

(D) Narmada

Recently organised G20 summit
was held in

(A) Bali

(B) New Delhi

(C) Rio De Janeiro
(D) New York
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Q. 81

Q. 82

Q. 84

Q. 85

Which of the following scheme is
launched for revamp and
modernaisation of railway
stations in the country?

(A) Sampoorna Bharat Station
Scheme

(B) Akhand Bharat Station
Scheme

(C) Adbhut Bharat Station
Scheme

(D) Amrit Bharat Station Sceme

Which of the following stations
in Raipur division is the most
recent one to get passenger train
connectivity?

(A) Tadoki
(B) Antagarh
(C) Keoti
(D) Kanker

State of Chhattisgarh does not
touch borders with

(A) Uttar Pradesh
(B) Bihar

(C) Jharkhand
(D) Odisha

When was the state of
Chhattisgarh established?

(A) 1998
(B) 2000
(C) 2002
(D) 2005

P V Sindhu is associated with
which of the following sports?

(A) Javelin throw
(B) Cricket

(C) Badminton
(D) Wrestling
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. 86

. 87

. 88

. 89

. 90

During stock verification, a
stock verifier issues a stock
sheet

(A) when he finds shortages
(B) when he finds excesses
(C) in either of the cases

(D) none of the above

Which of the following is the
largest desert in the world?

(A) Sahara
(B) Kalahari
(C) Kutch
(D) Gobi

Which of the following is the
National Animal of India?

(A) Lion
(B) Cheetah
(C) Tiger
(D) Elephant

First Vande Bharat Express was
introduced in route.

(A) New Delhi - Katra
(B) New Delhi - Varanasi

(C) Mumbai Central -
Gandinagar

(D) Bilaspur - Nagpur

Who heads the division of a
railway?

(A) MR

(B) GM

(C) DRM

(D) ZM
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Q.91

Q. 92

Q. 93

Q. 94

Q. 95

Expenditure under Repairs and
Maintenance of Plant and
Machinery of all departments is
made under the demand:

(A) 3A
(B) 5D
(C) 7A
(D) 10H

For meeting unforeseen
expenditures, pending
authorisation from Parliament,
this fund is kept at the disposal
of President of India.

(A) Public Acount of India

(B) Contingency Fund of India
(C) Consolidated Fund of India
(D) All of the above

Budget review is done in the
month of

(A) August
(B) May

(C) January
(D) October

The revenue working expenses of
the railways are classified under

sub-major heads with a
separate abstract for each
sub-major head.

(A) 9
(B) 16
(C) 25
(D) 13

The third budget review

conducted in the month of
is known as Final

Modification.

(A) August

(B) February

(C) January

(D) December
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Q. 96

Q. 97

Q. 98

Q. 99

Full form of ATVM is:
(A) Auto Ticket Vehicle Machine

(B) Automatic Ticket Vending
Machine

(C) Automatic Taxi Vending
Machine

(D) Association of Ticket
Vending Members

Full form of IRCTC is:

(A) Indian Railways Catering
and Tourism Corporation

(B) International Railway
Commercial Trading
Corporation

(C) Indian Roadways
Commercial Trading Council

(D) International Roads
Catering Tourism Council

Who heads the zonal railway?
(A) MR

(B) GM

(C) DRM

(D) ZM

Hubli is headquarter of
(A) SECR

(B) SR

(C) SWR

(D) SCR

Q. 100 What is the station code of

Raipur Railway Station?
(A) RAI

(B) RPR

(C) RP

(D) R
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Q. 101 What kind of rubber stamps will

be used in the offices of
Government of India?

(A) Only Hindi

(B) Only English

(C) Hindi and English Bilingual
(D) As desired

Who was the chairman of First
Official Language Commission?

(A) Bal Gangadhar Kher
(B) Govind Ballabh Pant
(C) Lalit Narayan Mishra
(D) None of these

Who is the chairman of Official
Language Implementation
Committe of the Divisional
Railway Office?

(A) DRM
(B) ADRM

(C) SR. DPO
(D) SR. DCM

How many members are there in
Parliamentary Committee on
Official Language?

(A) 30
(B) 20
(C) 12
(D) 10

Q. 105 Which of the following schedules

of Constitution pertains to
Official Language?

(A) Sixth
(B) Seventh
(C) Eighth
(D) Ninth
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Q. 106

Q. 107

Q. 108

Q. 109

Q. 110

How many languages are there
in the eighth schedule of the
constitution?

(A) 19
(B) 22
(C) 24
(D) 26

According to Constitution of
India, the Official Language of
the Union will be Hindi, and the
script will be

(A) Roman

(B) Devnagari

(C) Brahmi

(D) None of these

Indian Union is divided into
regions as per
Rajbhasha Rules.

(A) S
(B) 4
€) 3
(D) 2

Which ministry takes important
decisions pertaining to
Rajbhasha?

(A) HRD Ministry
(B) Rail Ministry
(C) Home Ministry
(D) None of these

When is Hindi Day celebrated
every year in Central
government offices?

(A) 14 November
(B) 14 January
(C) 14 October
(D) 14 September
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